Ex 5d

10.
Let 
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 where n is a positive integer.


(a)
Suppose k is an integer such that 1 ( k ( n. If g(x) is the polynomial such that 
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, show that 
[image: image3.wmf])

(

)

(

'

k

g

k

f

=

. Hence find f’(k) in terms of n and k.


(b)
Hence show that
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 for p = 1,2,….,n-1.

Solution:


(a)
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Hence 
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 EMBED Equation.3  [image: image8.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

!

...

1

1

...

2

1

!

....

2

1

)

(

n

n

x

k

x

k

x

x

x

k

x

n

n

x

x

x

x

f

-

-

-

+

-

-

-

-

=

-

-

-

=






we have 
[image: image9.wmf](

)

(

)

(

)

(

)

(

)

!

...

1

1

...

2

1

)

(

n

n

x

k

x

k

x

x

x

x

g

-

-

-

+

-

-

-

=






Hence 
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(b)
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 (Since p, (p+1), 
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10.
If f (9) = 3 and f’(9) = -6, find g’(9) for each of the following:
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Solution:

(a)
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(b)
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_1066768120.unknown

_1069779295.unknown

_1069779577.unknown

_1069779835.unknown

_1069779901.unknown

_1069921201.unknown

_1069779714.unknown

_1069779369.unknown

_1069779547.unknown

_1069779317.unknown

_1066768881.unknown

_1069779159.unknown

_1066768912.unknown

_1066768773.unknown

_1066768789.unknown

_1066768725.unknown

_1066767621.unknown

_1066767793.unknown

_1066768045.unknown

_1066767637.unknown

_1066767418.unknown

_1066767543.unknown

_1066767294.unknown

